Key to Final Exam; F4360; December 13th; Fall 2004
Short answer questions/problems

Note:  if you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  What keystrokes would you use in Excel to:  

a.  paste a selection that was previously cut or copied. Ctrl + V
b.  open the print box. Ctrl + P
c.  open the format cells box.  Alt + O + E
2.  If someone were to move into a higher tax bracket, what would happen to the pre-tax return that individual would demand on high dividend stocks?
Increases

3.  List (but do not discuss) the main three advantages of using transferable put rights to repurchase shares of common stock.
No wealth redistribution, no oversubscription, tax gain relative to tender offer.

4.  Which of the following comes last on the calendar?  declaration date, date of record, ex-dividend date, payment date.
Payment date.

5.  According to the signaling theory of dividends, what does management consider when setting the next dividend?
Most recent dividend, current earnings/cash flow, management’s expectations for future earnings/cash flow.
Problems/Essays

1.  What kinds of changes might cause the optimal amount of debt for a specific firm to fall without causing the optimal amount of debt for all (or at least most) firms to fall?  Explain your answer.  
1)  volatility of firm’s earnings and cash flow rises and/or level of earnings and cash flow falls

=> expected benefits of debt are smaller so less incentive to have debt

=> less likely to be able to fully utilize tax shield associated with debt

=> less surplus cash for management to waste so less need to remove it with debt service

=> expected costs from debt are larger creates incentive to have less debt

=> greater chance of bankruptcy and thus higher expected bankruptcy costs associated with debt

=> greater potential for loss of confidence in firm which leads to lost sales, higher credit costs, loss of key employees, loss of supplier credit

=> greater chance that management will begin to spend time avoiding bankruptcy or making short-sighted decisions.

=> more intangible assets that lose value quickly in distress

=> bondholders become more concerned about whether or not will get paid so new debt becomes more expensive to issue

=> more restrictive covenants, more monitoring, more likely debt is convertible, higher interest rates

2)  Stockholder-manager conflict has been resolved through other means (like increased management ownership of stock or through the use of management incentives) so less need to resolve potential conflict with debt.
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2.  How do stock prices react to unexpected announcements of higher dividends?  How might conflicts of interest within a firm explain these reactions?  
Stock prices rise.
1)  Dividends help resolve conflict of interest between stockholders and managers

=>  the more dividends that are paid, the more likely firm will have to issue securities
=> when issue securities, firm comes under intense scrutiny by government, investment bankers, potential investors

=> this possibility keeps management acting in stockholder interest today

2)  Dividends benefit stockholders at bondholder expense

=> when pay dividend, value of firm falls and risk of firm rises
=> firm value falls since assets paid out

=> both stock and bond values fall but stock value drops less than the dividend

=> bond values drop since less likely to get paid in full.

=> risk rises since least risky asset now gone from firm

=> risk benefits stockholders at the expense of bondholders since stockholders get the upside while bondholders get the downside.

=> bondholders have a fixed claim while stockholders have a residual claim and limited liability.

3.  Kiev Inc. has assets in place that originally cost $450,000 and which have a current book value of $250,000.  However, the present value of the cash flows that these assets are expected to produce over the next 15 years is estimated to be $650,000.  These assets were funded by stock and by bonds that mature 10 years from today for $600,000.  The standard deviation on these assets is 36%.  The risk of the firm’s assets causes the standard deviation of returns on the firm’s stock to be 45% and on the firm’s bonds to be 15%.  The firm is considering building a new facility at a cost of $85,000.  The facility would produce cash flows over the next 20 years with a present value of $100,000.  The project would be funded by using $10,000 of surplus cash, by issuing debt that matures in 10 years for $150,000, and by issuing additional shares of common stock.  The standard deviation of returns on the project is estimated to be 62%.  However, if the project is undertaken, the overall standard deviation of returns on the firm’s assets will only rise to 37%, the standard deviation of returns on the firm’s stock will only rise to 47%, and on the firm’s bonds will only rise to 16%.  The Wall Street Journal reports that the return on Treasuries varies by maturity as follows:  1-year = 2.56%; 2-years = 2.92%; 3-years = 3.18%; 5-years = 3.62%; 7  years = 4.10%; 10 years = 4.54; 15-years = 4.72%; 20-years = 4.93%.
Based on this information, what will be the value of the firm’s stock after the project is undertaken if you value the firm’s stock as a call on the firm’s assets?

V0 = 650,000 + 75,000 – 85,000 + 100,000 = 740,000
Dt = 600,000 + 150,000 = 750,000

t = 10

rf = .0454

2 = (.37)2 = .1369
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4.  How can a firm’s financial statements reveal (or be used to reveal) whether or not a firm is doing a better or worse job of creating wealth for the firm’s stockholders?
Can use the financial statements to calculate the firm’s EVA to see if it is rising.

=> this is a better indicator of whether or not the firm is doing a better job of creating wealth for stockholders

=> net income is not a good indicator since it is inconsistent with cash flow and the time value of money.

Ratios can help reveal whether or not the firm is creating more wealth for stockholders

=> improving activity ratios provide evidence that the firm is doing a better job of creating wealth

=> increasing total asset turnover indicates more sales are being generated from assets

=> increasing receivables turnover indicates receivables are being collected more quickly

=> increasing inventory turnover indicates that more sales are being generated from inventory

=> improving profitability ratios provide evidence that the firm is creating more wealth

=> increasing net or gross profit margin indicates more profit per dollar of sales.
=> increasing return on assets or return on equity indicate more profit per dollar of assets or equity.

An increase in cash flow from operations generally indicates the firm is doing a better job of creating stockholder wealth.

5.  Assume you own stock in a firm with textile manufacturing facilities in North Carolina, stock in a textile firm with manufacturing facilities in Brazil, and T-bills (Assume that 50% of you wealth is currently tied up in T-bills).  Assume also that you are considering investing in the stock of a start-up firm that will build textile manufacturing facilities in China.  Assume that the North Carolina stock is the least risky to the firm but offers the lowest rate of return.  Assume also that the stock of the start-up firm building in China would create the greatest risk but the highest expected return.  Finally, assume that the correlation between the North Carolina and Brazil stocks is 0.8 while the correlation between the stock of the firm that will build in China and both of your currently owned stocks is negative.  
a.  Sketch a graph of the risk-return possibilities you can achieve by varying how you split your portfolio between the two stocks you already own.  Note:  ignore your T-bill holdings for this graph.
b.  On the same graph you drew to answer part a, sketch a graph of the risk-return possibilities you can achieve with all three stocks.  Note:  again ignore your T-bill holdings for this graph.

c.  Assume you invest in all 3 stocks but want to your overall risk to be the same as it is now (with the 2 stocks and T-bills).  Show graphically and discuss the best way for you to achieve your goal.

d.  Show on your graph whether you are better off or worse off and discuss why this is the case.

Note:  be sure to label which part of the graph answer which part of the question….label parts of the graph as “a”, “b”, etc.

a.  Brazil is above and to the right of North Carolina and the feasible set is a line that curves to the left between these two points.  

b.  China is above and to the right of Brazil and the feasible set is an area that curves to the left from the 3 individual assets.  A line extends from the risk-free rate to the point of tangency on this curve.  Your investment is directly above the point in part “a”.  This indicates that while your risk is the same, your expected return has risen.

c.  If you only invest in NC and Brazil,  your investment is on the line that extends from the risk-free rate to the point of tangency on the curve from part “a”.  Since you have 50% of your funds invested in T-bills, you are at the point half-way between the intercept and the point of tangency (call this point C1).  If you invest in NC, Brazil, and China, then your investment is on the line that extends from the risk-free to the point of tangency on the graph for part “b”.  Your point is directly above C1.  In my graphs this involves borrowing and investing in the tangent portfolio.

d.  You are better off since you have the same risk but a higher expected return.
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6.  Chinese Aviation Oil (CAO) has assets with a current market value of $4 billion and is considering undertaking a massive new project in Houston with a value of $1 billion.  The returns on existing assets, on the project, and on the market as a whole (as measured by the S&P 500) will depend the economy as follows:


Return on:  

Economic State
Probability
Existing Assets
Project
S&P 500
Boom
.35
35%
12%
23%

Slow Growth
.45
11%
-5%
8%

Recession
.20
-10%
48%
-4%

a.  If the CAO undertakes the project, what will be the return on the firm as a whole for each state of the economy?

b.  If CAO undertakes the project, what will be the beta of the firm’s assets?

a.  Boom = .8(35) + .2(12) = 30.4

Slow growth = .8(11) + .2(-5) = 7.8

Recession = .8(-10) + .2(48) = 1.6

b.  E(rA) = .35(30.4) + .45(7.8) + .2(1.6) = 14.47

E(rS&P) = .35(23) + .45(8) + .2(-4) = 10.85
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7.  Stargulp Inc. is considering opening a new high caffeine frozen cola shop in Waco.  It will cost $300,000 to open the new shop in the Central Texas Marketplace.  Net, after-tax monthly cash flows at the new shop are estimated to be $5000 three months from today when the shop opens and are to grow by 1% per month through 5 years from today.  However, Stargulp estimates that $1000 of the net, after-tax monthly cash flows at the new store would have been realized anyway through sales at its existing stores throughout Waco.  If the beta of the new shop is 0.4, the risk-free rate is 2% and the market risk premium is 8%, should Stargulp open the new store?  Why?

r = .02 + .4(.08) = .052


[image: image7.wmf](

)

(

)

004233

.

1

052

.

1

12

1

12

1

=

-

=

r



[image: image8.wmf]89

.

071

,

29

004233

.

1

1

004233

.

1

01

.

1

1

01

.

004233

.

4000

000

,

300

2

58

-

=

÷

ø

ö

ç

è

æ

÷

÷

ø

ö

ç

ç

è

æ

÷

ø

ö

ç

è

æ

-

÷

ø

ö

ç

è

æ

-

+

-

=

NPV


No since NPV < 0




















































PAGE  


Page 4 of 4

_1164038052.unknown

_1195535592.unknown

_1231833733.unknown

_1164038139.unknown

_1195535591.unknown

_1164006273.unknown

_1164038002.unknown

_1164006159.unknown

